

Covariance Explained: Change of Origin vs. Scale Made Simple!

Data Science and A.I. Lecture Series

Bindeshwar Singh Kushwaha

PostNetwork Academy

Covariance Independence Theorem

Theorem: Prove that the covariance is independent of change of origin but not of scale.

- Change of origin: Adding/subtracting a constant to each observation.

Covariance Independence Theorem

Theorem: Prove that the covariance is independent of change of origin but not of scale.

- Change of origin: Adding/subtracting a constant to each observation.
- Change of scale: Multiplying/dividing each observation by a non-zero constant.

Covariance Independence Theorem

Theorem: Prove that the covariance is independent of change of origin but not of scale.

- Change of origin: Adding/subtracting a constant to each observation.
- Change of scale: Multiplying/dividing each observation by a non-zero constant.
- Covariance formula:

$$\text{Cov}(X, Y) = \frac{1}{n} \sum_{i=1}^n (x_i - \bar{X})(y_i - \bar{Y})$$

Covariance Independence Theorem

Theorem: Prove that the covariance is independent of change of origin but not of scale.

- Change of origin: Adding/subtracting a constant to each observation.
- Change of scale: Multiplying/dividing each observation by a non-zero constant.
- Covariance formula:

$$\text{Cov}(X, Y) = \frac{1}{n} \sum_{i=1}^n (x_i - \bar{X})(y_i - \bar{Y})$$

- Let $u_i = \frac{x_i - a}{h} \implies x_i = a + hu_i$ and $v_i = \frac{y_i - b}{k} \implies y_i = b + kv_i$

Covariance Independence Theorem

Theorem: Prove that the covariance is independent of change of origin but not of scale.

- Change of origin: Adding/subtracting a constant to each observation.
- Change of scale: Multiplying/dividing each observation by a non-zero constant.
- Covariance formula:

$$\text{Cov}(X, Y) = \frac{1}{n} \sum_{i=1}^n (x_i - \bar{X})(y_i - \bar{Y})$$

- Let $u_i = \frac{x_i - a}{h} \implies x_i = a + hu_i$ and $v_i = \frac{y_i - b}{k} \implies y_i = b + kv_i$
- Where a, b, h, k are constants.

Change of Origin Transformation

- Substituting $x_i = a + hu_i$:

$$x_i = a + hu_i \text{ --- (1)} \quad \Rightarrow \quad \frac{1}{n} \sum x_i = a + h \frac{1}{n} \sum u_i \quad \Rightarrow \quad \bar{X} = a + h\bar{U} \text{ --- (2)}$$

Change of Origin Transformation

- Substituting $x_i = a + hu_i$:

$$x_i = a + hu_i \text{ --- (1)} \quad \Rightarrow \quad \frac{1}{n} \sum x_i = a + h \frac{1}{n} \sum u_i \quad \Rightarrow \quad \bar{X} = a + h\bar{U} \text{ --- (2)}$$

- Substituting $y_i = b + kv_i$:

$$y_i = b + kv_i \text{ --- (3)} \quad \Rightarrow \quad \frac{1}{n} \sum y_i = b + h \frac{1}{n} \sum v_i \quad \Rightarrow \quad \bar{Y} = b + k\bar{V} \text{ --- (4)}$$

Change of Origin Transformation

- Substituting $x_i = a + hu_i$:

$$x_i = a + hu_i \text{ --- (1)} \Rightarrow \frac{1}{n} \sum x_i = a + h \frac{1}{n} \sum u_i \Rightarrow \bar{X} = a + h\bar{U} \text{ --- (2)}$$

- Substituting $y_i = b + kv_i$:

$$y_i = b + kv_i \text{ --- (3)} \Rightarrow \frac{1}{n} \sum y_i = b + h \frac{1}{n} \sum v_i \Rightarrow \bar{Y} = b + k\bar{V} \text{ --- (4)}$$

- From the substitutions: We get

$$\text{From (1) - (2)} \quad x_i - \bar{X} = h(u_i - \bar{U})$$

Change of Origin Transformation

- Substituting $x_i = a + hu_i$:

$$x_i = a + hu_i \text{ --- (1)} \Rightarrow \frac{1}{n} \sum x_i = a + h \frac{1}{n} \sum u_i \Rightarrow \bar{X} = a + h\bar{U} \text{ --- (2)}$$

- Substituting $y_i = b + kv_i$:

$$y_i = b + kv_i \text{ --- (3)} \Rightarrow \frac{1}{n} \sum y_i = b + h \frac{1}{n} \sum v_i \Rightarrow \bar{Y} = b + k\bar{V} \text{ --- (4)}$$

- From the substitutions: We get

$$\text{From (1) - (2)} \quad x_i - \bar{X} = h(u_i - \bar{U})$$

- From the substitutions: We get

$$\text{From (3) - (4)} \quad y_i - \bar{Y} = k(v_i - \bar{V})$$

Effect of Change of Scale

- Change of origin shifts data without affecting covariance.

Effect of Change of Scale

- Change of origin shifts data without affecting covariance.
- From the substitutions:

$$x_i - \bar{X} = h(u_i - \bar{U}), \quad y_i - \bar{Y} = k(v_i - \bar{V})$$

Effect of Change of Scale

- Change of origin shifts data without affecting covariance.
- From the substitutions:

$$x_i - \bar{X} = h(u_i - \bar{U}), \quad y_i - \bar{Y} = k(v_i - \bar{V})$$

- Covariance formula becomes:

$$\text{Cov}(X, Y) = \frac{1}{n} \sum_{i=1}^n h(u_i - \bar{U}) \cdot k(v_i - \bar{V})$$

Simplification of Covariance Formula

- Extracting h and k :

$$\text{Cov}(X, Y) = hk \cdot \frac{1}{n} \sum_{i=1}^n (u_i - \bar{U})(v_i - \bar{V})$$

Simplification of Covariance Formula

- Extracting h and k :

$$\text{Cov}(X, Y) = hk \cdot \frac{1}{n} \sum_{i=1}^n (u_i - \bar{U})(v_i - \bar{V})$$

- Final expression:

$$\text{Cov}(X, Y) = hk \cdot \text{Cov}(U, V)$$

Simplification of Covariance Formula

- Extracting h and k :

$$\text{Cov}(X, Y) = hk \cdot \frac{1}{n} \sum_{i=1}^n (u_i - \bar{U})(v_i - \bar{V})$$

- Final expression:

$$\text{Cov}(X, Y) = hk \cdot \text{Cov}(U, V)$$

- Conclusion: Covariance is independent of origin (a, b) but depends on scale (h, k) .

- Covariance is:

- Covariance is:
 - **Unaffected** by change of origin.

- Covariance is:
 - **Unaffected** by change of origin.
 - **Affected** by change of scale.

- Covariance is:
 - **Unaffected** by change of origin.
 - **Affected** by change of scale.
- Proof complete.

Reach PostNetwork Academy

Website

PostNetwork Academy | www.postnetwork.co

YouTube Channel

www.youtube.com/@postnetworkacademy

Facebook Page

www.facebook.com/postnetworkacademy

LinkedIn Page

www.linkedin.com/company/postnetworkacademy

Thank You!